Ef-TEBRRAREE-—ER AM64E5H23AHE
S - RREE (ILSERSRE
FEEEAS ERE
BT |- XL RE HER
TETHEEFLOLME | SUiAHE
X7 (BKE) REM=EHEE |12
(EWKE) |TIERSIEHEE 124
: =g w |BERIIRE=79, Bi)IRE=124, K)IiRi=24.6, F2&)IIR1H%=2338,
REFEIEMERE || Jscii=120, )11 =72, B30I Foist=16
: . BEHT)IRIE=(6, 8.5), KJIIiigi=(8, 14.3), #L)IiH=(8, 6.8),
H#K GRS WIIFE=(6, 6.4), BEEIIFE=(8, 10.4)
EEAIEKTR | _
s IkBEE
. fE 18m/s T[EED
== 3z 5
RAE FHRE B 20m/s TERS
= = 7y i 1251 BEE D FES20cm
AE REORS e [12BmEE 0 ES250m
KR E2ES 6.0m
] i 12m
- FEREEREE |8
TERSHEHEEE |93
ik e | B EPR)IFIN=5.3, BEHT)IFE=9.9, K)IFIE=19.6, 2A)IIFIE=19,
RERERESEE |1)1iFk=0.7, 1157, B HIIFE=1238
BEFRIGE=(5 5.3), EHIIFE=(5 76), K)IIFtE=(6, 12.9),
#oK EaEE ERNIRE=(7, 12.2), #L)IERE=(6, 5.3), #)Ii%=(6, 4.6),
BEEIRE=(5, 9.4)
BEAEKTHR |_
IZkBEE
ua TORE i Tiowe
= T 4 [ fE _E 13m/s BEHES
RE TR B 15m/s BEMS
= = 7y iy 1285 IR E DIFES10cm
EER AS REQRS g 1285 REIREE DIFES15cm
- R HFE2ES 3.0m
=i L 0.9m
= ESEFICLYBENTEINDES
mME MEICKYEENTFEINDEE
2B iz [‘gi 100m
e %%/J\;‘%Ew% %&ﬁ;‘%rrgas%fﬁtﬁm/sut
B/INEEESSh ERNITEE60%
ntEn @lll/al,{‘624E#Faﬁﬂﬁ'§£0)5§é40cmut R
- QEEH50cmLl LT, B EHKESCLL LD B A RS
sijﬁ:%E-Eaiﬂi-qzﬁ]ﬁi%d)b\?hb‘b‘¢$éﬂ)4~5°Cl>JJ:1&L‘EfJ“%IEl«lJ:ﬁ(&%
R 21 ORIBEKEMN-TCUT
QRIESEMN-5CUTAHKBHEEE?
b BE.BEHICEBORRESB2CUT (REHIIEEMDEETEZELERT )
EK-ESE EFEROEHET CREN-2CEYSNGE

(5o R R0 R P Rl A R TR 2R

[100mm

TERRE

EEREEY, REREIER) O hEICLAEEEERLTLET,
2 RBORBFINEERSEA. AEEI SRS EAFTOME,



